AUTUMN BREAK HOMEWORK
CLASS-VI

SCIENCE
Q.1 A 30 cm scale has one end broken. The mark at the broken
end is 2.6 cm. How would you use it to measure the length of
your pencil?
Q.2 State two precautions, which should be taken while using a
metre scale to measure the length of an object.
Q.3How will you measure the length of any curved line?
Q.4(i)Arrange the following lengths in descending order.
1 millimeter; 1kilometer; 1 meter; 1 decameter ;1 decimeter
(ii)Define rectilinear motion
Q.5) Ramesh’s mom asked him to go get paneer from the
market. The market is 1550 m from his home. Express this
distance into km
Q.6)Define periodic motion.
Q.7Which measuring device can be used to measure the girth
of a tree? Why Sl unit of measurement came into existence?
Q.8Why can a pace or a footstep not be used as a standard
unit of length?
9What is the difference between image and shadow?
10Why is the moon not considered as a luminous body?
Note-
Learn chapter measurement of motion and measurement of
distances and light, shadowreflection
Prepare a model on any topic for science exhibition
Science and Technology for Society
Sub-themes: 1. Health
2. LiFE (Lifestyle for Environment)
3. Agriculture
4. Communication and Transport
5. Computational Thinking

Happy autumn break to all of you



AUTUMN BREAK HOMEWORK
CLASS-VII
SCIENCE

1Explain the difference between self-pollination and cross-pollination.
2What are the advantages of vegetative propagation

3What is meant by the term fertilisation? List the stepwise manner
leading to formation of an embryo

40bserve the given figure

()Which plant is this? Give the name of the plant.
(i) What does it shows?
(iii) From where the new plants are developing?

5n the figure of a flower given below, label the parts whose functions are
given below and give their names

a) The part which contains pollen grains.

(b) The part where the female gamete is formed.

(c) The female reproductive part, where pollen grains germinate.
(d) The colourful part of flower which attracts insects

6The ‘eye’ of the potato plant is what?(MCQ)

(a) The root is to any plant

(b) The bud is to a flower

(c) The bud is to Bryophyllum leaf

(d) The anther is to stamen

Learn chapter reproduction in plant and motion and time
Prepare a model on any topic for science exhibition
Science and Technology for Society

Sub-themes: 1. Health

2. LiFE (Lifestyle for Environment)

3. Agriculture

4. Communication and Transport

5. Computational Thinking

Happy autumn break to all of you



AUTUMN BREAK HOMEWORK
CLASS-VIII

SCIENCE

1 Define reproduction. What are the two modes of
reproduction?

2. What are the female reproductive organs?

3. What do mean by test tube baby?

4. Explain various modes of asexual reproduction.
5. Explain the life cycle of a frog

6. How asexual reproduction in hydra is carried out?
Explain with diagram.

7. Explain metamorphosis.

8. Which organ produces egg in female human body?
9. Give two examples of oviparous animals.

10 List the changes takes place in adolescence.

Prepare a model on any topic for science exhibition
Science and Technology for Society

Sub-themes: 1. Health

2. LiFE (Lifestyle for Environment)

3. Agriculture

4. Communication and Transport

5. Computational Thinking

Happy autumn break to all of you



KENDRIYA VIDYALAYA PATAN
AUTUMN BREAK HOLIDAY HOME WORK
CLASS -IX SUB- SCIENCE

ASSERTION AND REASON.
Following questions consist of two statements —
Assertion (A) and Reason (R). Answer these
questions selecting the appropriate option given
below:
(a) Both A and R are true and R is the correct
explanation of A.
(b) Both A and R are true but R is not the correct
explanation of A.
(c) A'is true but R is false.
(d) A'is false but R is true.
Q.1. Assertion : Parenchyma cells help in storage of
food.
Reason : Parenchyma cells are the main seats of
photosynthesis.
Q.2. Assertion : Vascular or conductive tissue is a
distinctive feature of complex plants.
Reason : Vascular tissue has made survival of
complex plants possible in terrestrial environment.
Q.3. Assertion : The inner lining of intestine has tall
epithelial cells.
Reason : Columnar epithelium facilitates absorption
and secretion.
Q.4. Assertion : Permanent tissue is composed of
mature cells.
Reason : Meristematic tissue is a group of actively
dividing cells.
Q.5. Assertion : Most of plant tissues are dead.
Reason : Due to sedentary existence of plants, dead
cells provide mechanical strength more easily than
live ones and need less maintenance.
Q.6. Assertion : For noble gases, valency is zero.
Reason : Noble gases have 8 valence electrons.
Q.7. Assertion : Thomson’s atomic model is known
as ‘raisin pudding’ model.
Reason : The atom is visualized as a pudding of
positive charge with electrons (raisins) embedded in
it.
Q.8. Assertion : The mass of the total number of
protons and neutrons is a measure of the

approximate mass of an atom.

Reason : The mass of an electron is negligible.

Q.9. Assertion : Electrons moving in the same orbit
will lose or gain energy.

Reason : On jumping from higher to lower energy
level, the electron will gain energy

Q.10. Assertion : Isotopes are electrically neutral.
Reason : Isotopes are species with same mass
number but different atomic numbers

Questions...

Q.1 Describe the structure and function of stomata.
Q.2 Why are xylem and phloem called complex
tissues? How are they different from one other ?
Q.3 Write a short note on xylem.

Q.4 Write a short note on phloem.

Q.5 Write a short note on blood.

Q.6Which subatomic particle is absent in an
ordinary hydrogen atom?

Q.7 Write the electronic configuration of an element
whose atomic number is 12.

Q.8 What will be the valency of an atom if it contains
3 protons and 4 neutrons?

Q.9 Write 2 pairs of isotopes?

Q.10 Give two important applications of radioactive
isotopes.

Q.11 Make a list of 1-20 elements name with
atomic number, p+,e+,n° and mass.

Q.12Which isotope of hydrogen is present in heavy
water?

Q.13 What is the number of electrons in Mg atom
and Mg2+ ion ?

Q.14 What are polyatomic ions ? Give two
examples.

Q.15 What is the atomicity of Argon ?

Q.16 Draw neat and clean labelled diagrams of the
following.

Plant cell
Animal cell

HAPPY AUTUMN BREAK FOR YO




12 Magnetic effect of current

Q. 1(a)Describe an activity with labelled diagram to show that a force acts on current carrying conductor

placed in a magnetic field and its direction of current through conductor. Name the rule which determines
the direction of this force.

(b)How will the force change if the current in the conductor is increased?

Ans. Take a small metal rod AB and suspend it from a stand with the help of two connected wires. Put the
in between the horseshoe magnet in such a way that the rod remains in between the two poles. Pass the
current in the rod through the two wires. You would find that the rod is deflected towards the left. Now
reverse the direction of the current, and the rod is deflected in opposite direction. This show that a force is
experienced by a current-carrying conductor in the magnetic field..

-

i

Direction of force on a current carrying conductor is determined by Fleming’s left hand rule.

(b)If the current in the conductor is increased then more force will act on the rod, and get more deflected.

2 Name the type of electric current generated by most of the power stations in our country.
b. Why is it preferred over the other type?
c. State the frequency of the power supply generated in India.
Ans. (a)Alternating current.
b. AC can be transmitted over long distances without much loss of energy.
¢. 50 Hz.
3) a. What do you understand by a short circuit?
b. What is overloading? How can you avoid overloading?
Ans Short circuiting means when live wire and the neutral wires come in contact with each other,
the resistance of the circuit becomes very small, and a huge amount of current flows through the
circuit which in turn produces more heat which can cause a fire.
b. Overloading means a large amount of current flows in the circuit. It can happen when many
electrical appliances of high power ratings are connected in a single socket.
Overloading can be avoided by the following methods:

i. Do not use too many appliances in a single socket.

ii.  Ensure that wires are properly insulated.

iii.  Ensure that the appliances/devices are not faulty.




HOLIDAY HOMEWORK
IX

S.Sci

Climate Class 9 Notes Social Science Geography Chapter 4

The term climate is the sum total of.the weather conditions (including variations) over a large area for a long period of time
(more than thirty years).

The term weather refers to the state of the atmosphere at a place and time with reference to the following elements

Temperature Humidity

Air pressure

Cloudiness or sunshine

Precipitation (Rainfall or snowfall)

Wind

The weather conditions fluctuate very often within a day. Based on the generalised fhonthly atmospheric conditions, the
year is divided into seasons such as winter, summer and rainy seasons. The world is divided into a number of climatic
regions. In Asia, India and other South and South-Eastern countries have monsoon type of climate.

The word monsoon is derived from the Arabic word ‘mausim’ which literally means season. ‘Monsoon’ refers to the seasonal
reversal in the wind direction during a year.

Regional Climatic Variation In India

Although there is an overall unity in the general climatic pattern in India, there are some perceptible regional variations.
Temperature

The temperature in the winter in North-Western mountainous regions can go down to — 45° C (at Drass in Jammu and
Kashmir), while it is 22°C in Thiruvananthapuram in Kerala. Similarly, it can go up to 50°C in summer in some parts of
Western Rajasthan and 20°C in Shillong.

In many areas, there is a wide variation between day and night temperatures. In the Thar Desert, the day temperature may
rise up to 50°C and drop down to near 15°C the same night. On the other hand, there is hardly any difference in day and
night temperatures in the Andaman and Nicobar islands or in Kerala.

Precipitation

There is a wide variation observed in its amount and seasonal distribution. Precipitation in the form of snowfall occurs only
in upper parts of Himalayas, the rest of the country receives rainfall.

A typical example, the annual precipitation varies from over 400 cm in Meghalaya to less than 10 cm in Ladakh and Western
Rajasthan. Similarly, most parts of the country receive rainfall from June to September, but the Tamil Nadu coast gets most
of its rain during October and November.

Coastal regions experience different weather conditions from the interior regions. For example, temperature and seasonal
contrast are relatively mild. The rainfall also decreases from East to West. Such differences help to create a variety in lives of
people— the food they eat, the clothes they wear, the kind of houses they used for living and so on.

Climatic Controls

Permanent factors which govern the general nature of the climate of any location on the earth are called factors of Climatic
Controls.

The factors of climatic controls are m Latitude The angular distance of a location from the equator in North-South direction is
called latitude. Due to the curvature of the earth, latitude changes the amount of solar energy received. As a result, air
temperature decreases from the equator towards the poles.

Altitude It refers to the height above mean sea level. With increase of height from the earth surface, the temperature
decreases and air becomes less dense. Therefore, hilly regions are cooler in summer.

Pressure and Wind System It depends on the latitude and altitude of a place. Thus, it influences the temperature and rainfall
pattern of the area.

Continentality or Distance from the Sea The sea exerts a moderating influence on the climate. As the distance from the sea
increases, the weather conditions become more extreme (high temperature and rainfall variation between seasons). .
Ocean Currents Along with onshore winds, the ocean currents (warm or cold) affect the climate of coastal areas. For
example, cold onshore currents bring coolness in coastal areas.

Relief Features High mountains stop cold or hot winds from reaching a location..It can also cause rain or snow if the place is
on the windward side of the mountains. The leeward side of the mountains are.

Factors Affecting India’s Climatic

Latitude

The Tropic of Cancer (23°3 CV N) divides the country into the tropical zone (South of this line) and the sub-tropical zone



(North of this line). The line runs from the.Rann of Kuchchh (West) to Mizoram (East). All the remaining area, North of Tropic,
lies in sub-tropics. So, India’s climate has characteristics of tropical as well as sub-tropical climates.

Altitude

Mountains- in the North of India have an average elevation of about 6000 m, whereas on the coastal areas as well as islands,
maximum elevation is about 30 m.

The Indian sub-continent experiences milder winters as compared to Central Asia because of the Himalayas which prevent
the cold winds from entering the sub-continent.

Pressure and Winds

The following atmospheric conditions govern the climate and associated weather conditions in India

e  Pressure and surface winds

e  Upper air circulation

e  Western cyclonic disturbances and tropical cyclones
Pressure and Surface Winds
India lies in the region of North-Easterly surface winds. These winds originate during winter from the sub-tropical high-
pressure belt of the Northern hemisphere.
These winds blow South, get deflected to the right due to the Coriolis force and move towards the equatorial-low pressure
region. These winds originate and blow over land and hence, carry very little moisture. Therefore, they bring no rain or very
little rain. The unique feature of Indian pressure and wind conditions is its complete reversal. During winter, high-pressure
areas develop over the areas North of Himalayas. This causes cold dry winds blow from the area towards low-pressure area
over the oceans to the South.
In summer, due to high temperature, low-pressure area develops over interior Asia and over North-Western India. Air from
high-pressure areas blow towards this region resulting in complete reversal of wind direction.
As these winds from high pressure area of Southern Indian ocean crosses the equator and turns right towards low pressure
areas of Indian sub-continent. These winds gather large moisture while moving over the warm ocean and bring widespread
rainfall over the mainland of India. These winds are known as the South-West Monsoon winds.
Upper Air Circulation and Western Cyclonic Disturbances
The upper air circulation of the region (Indian subcontinent) is dominated by a westerly flow which is governed by Jet
stream. Due to their location over 27°-30° N latitude, these jet streams are known as sub-tropical westerly jet streams. They
blow South of the Himalayas, throughout the year except in summer.
Western Cyclonic Disturbances and Tropical Cyclones
The Western cyclonic disturbances are weather phenomena of the winter months brought in by the westerly flow from the
Mediterranean region. They usually influence the weather of the North and North-Western regions of India. Tropical
cyclones occur during the monsoon as well as in October-November and are part of the easterly flow. These disturbances
affect ti e coastal regions of the country.
The westerly flow brings the Western cyclonic disturbances in the North and North-Western India. In summer, the sub-
tropical westerly jet stream moves North of the Himalayas due to apparent shifting of the sun. An easterly jet stream, called
sub-tropical easterly jet stream, blows over peninsular India approximately over 14° N during the summer months.

Coriolis force An apparent force that as a result of the Earth’s rotation, deflects moving objects like air currents to the right in
the Northern Hemisphere and to the left in the Southern hemisphere. This is known as Ferrel’s law. This law states that a
wind in any direction tends to deflect towards right (West to East) in the Northern Hemisphere and to the left in the
Southern Hemisphere with a force that is directly proportional to the mass of the wind in question, its velocity, the sine of
the latitude and the angular velocity of the Earth’s rotation.

Jet stream These are a narrow belt of high altitude (above 12,000 m) westerly winds’in the troposphere. Their speed varies
from about 110 km/h in summer to about 184 km/h in winter. A number of separate jet streams have been identified. The
most constant are the mid-latitude and the subtropical jet stream.

The Indian Monsoon

Monsoon winds strongly influence climate of India. The monsoons are experienced in the tropical area roughly between 20°
N and 20°S.

Mechanism of Monsoon

The following facts are important to understand the mechanism of the monsoons

The differential heating and cooling of land and water creates low pressure on the landmass of India while the seas around

experience comparatively high pressure-

Distribution Of Rainfall

Annually, parts of Western coast and North-Eastern India receive over about 400 cm of rainfall. However, it is less than 60
cm in Western Rajasthan and adjoining parts of Gujarat, Haryana and Punjab. Rainfall is equally low in the interior of the
Deccan Plateau and East of the Sahyadris. A third area of low precipitation is around Leh in Jammu and Kashmir.



The rest of the country receives moderate rainfall. Snowfall, is restricted to the Himalayan region. Owing to the nature of
monsoons, the annual rainfall is highly variable from year to year. Variability is high in the regions of low rainfall such as
parts of Rajasthan, Gujarat and the leeward side of the Western Ghats. Due to this, the areas of high rainfall are liable to be
affected by floods whereas, areas of low rainfall are drought-prone.Monsoon as a Unifying Bond

Northern India has comparatively higher temperatures than other areas of the world at a similar latitude due to the
Himalayas protecting it from the cold Central Asian winds. The peninsular plateau has moderate temperatures due to the
influence of the sea on three sides. The monsoon provides a great variation despite such moderating influences. However,
the monsoon unites the land like no other force, because it provides a rhythmic cycle of seasons. The vegetation, animal life
and agricultural activities are all revolving around the effects of the monsoon.The life of the people, their celebration of
festivals and other activities all are geared to the monsoon as India is still primarily an agricultural nation. The monsoon
provides the water to set agricultural activities in motion and hence, the arrival of the monsoon is awaited eagerly. The river
valleys which carry this water also unite as single river valley unit.

Summary

Climate is the sum total of the weather conditions and variations over a large area for a long period of time, generally more
than 30 years.Weather is the state of the atmosphere over an area at any point of time.Various elements of weather and
climate are temperature, atmospheric pressure, wind, humidity and precipitation.India along with South and South-East Asia
has monsoon type of climate.The climate of any place is controlled by latitude, altitude, pressure and wind system, distance
from the sea, ocean currents and relief features.High mountain by blocking the rain-bearing winds helps in causing rainfall in
windward side of mountain.

The atmospheric conditions which govern the climate and weather condition of India are-pressure and surface winds, upper
air circulation, western cyclonic disturbances and tropical cyclone.

Coriolis force which is generated by the rotation of the earth is responsible for deflecting winds towards the right in
Northern hemisphere and towards the left in Southern hemisphere.

South-West monsoon winds are South-East trade winds of Southern hemisphere which after crossing equator, become
South-Western trade winds (due to rightward deflection by Coriolis force). As they blow over warm ocean, they cause
rainfall in Indian sub-continent.

Jet streams are fast blowing winds moving in the upper atmosphere. They are located at about 27°-30° North latitude.
Shallow cyclonic depressions originating over the Mediterranean sea are known as Western disturbances. They cause winter
rainfall in-North Western parts of India.

Monsoon is derived from Arabic word ‘Mausim’. It refers to the reasonal reversal in wind direction throughout the year.
The Inter Tropical Convergence Zone (ITCZ) is a broad trough of low pressure in equatorial latitude. In ITCZ, there is
convergence of North-east and South-East trade wind.

Southern Oscillation (SO) is the reversal of pressure conditions and vice-versa in Southern Pacific ocean and Eastern Indian
ocean.

ENSO is the combination of EL Nino and Southern Oscillation. The changes in pressure conditions are connected to EL Nino,
hence, the phenomenon is referred to as ENSO.

Monsoons are pubating in nature and are affected by different atmospheric conditions.

The Arabian sea branch of monsoon causes rainfall in Western Ghat, Mumbai, Gujarat and central India.

The Bay of Bengal branch of monsoon causes rainfall in North-East India and Ganga plain.

The sudden and continuous rain associated with violent thunder and lightning is called Burst of monsoon. It occurs around
the time of arrival of monsoon.

Arabian sea branch and Bay of Bengal branch are the two branches of South-West monsoon in India.

EL Nino is a warm ocean current that flows past the Peruvian coast in place of cold Peruvian current every 2 to 5 years. ’
Cold weather, hot weather, advancing monsoon and retreating monsoon are four-main seasons in India.

The cold weather season is associated with clear sky, low temperature, low humidity and feeble, variable wind.

Due to the moderating influence of sea, the peninsular region does not have a well defined cold season.

Loo is hot and dry winds blowing during the day over the North and North-Western India in the summer season.

Kaal Baisakhi is a pre-monsoon shower in West Bengal. This localised thunderstorm of the summer season is associated with
violent winds, torrential downpours and is often accompanied by hail.

World’s highest rainfall occurs in Mawsynram. It is located in Southern range of Khasi hills in Meghalaya.

Monsoon occurs in dry and wet spells. The rainless intervals interspersing the monsoon rain is called ‘Breaks in monsoon.’
The monsoon trough is the intense and elongated low-pressure area, which develops over North-Western India. It extends
from the Thar Desert in West to Chota Nagpur plateau in East.

The pre-monsoon shower in coastal Karnataka and Kerala is called Mango shower. It helps in early ripening of Mangoes.
The hot and humid condition which makes the weather oppressive is called October heat. It occurs towards the end of
retreating monsoon in the month of October.
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Sample Paper 3
Class X 2023-24
Science (086)

Time: 3 Hours Max. Marks: 80
General Instructions:

1.
2.

3.

This question paper consists of 39 questions in 5 sections.

All questions are compulsory. However, an internal choice is provided in some questions. A student is expected
to attempt only one of these questions.

Section A consists of 20 Objective Type questions carrying 1 mark each.

Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions should in the
range of 30 to 50 words.

Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these questions should
in the range of 50 to 80 words.

Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these questions should
be in the range of 80 to 120 words.

Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-parts.

SECTION-A

Select and write one most appropriate option out of the four options given for each of the questions 1 — 20.

A student determines the focal length of a device X, by focusing the image of a far off object on the screen
positioned as shown in figure The device X is a

Sereen

(a) Convex lens
(b) Concave lens
(¢) Convex mirror

CConionue Co oueen ppaue......
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Page 2 Sample Paper 3

2.

CBSE Science Class 10

A student traces the path of a ray of light through a glass prism for different angles of incidence. He analysis each

diagram and draws the following conclusion:
L On entering prism, the light ray bends towards its base.

II. Light ray suffers refraction at the point of incidence and point of emergence while passing through the prism.
III. Emergent ray bends at certain angle to the direction of the incident ray.
IV. While emerging from the prism, the light ray bends towards the vertex of the prism.

Out of the above inferences, the correct ones are:
(a) I, 1I and 111

(b) L III and IV
(¢) IL III and TV
(d) TandIV

The reaction that differs from the rest of the reaction given is-
(a) formation of calcium oxide from limestone

(b) formation of aluminium from aluminium oxide
(c) formation of sodium carbonate from sodium hydrogen carbonate
(d) formation of mercury from mercuric oxide

Consider the following table :

Substance pH
Lemon 2.3
Battery acid x
Sea water 8.5
Apple 3.1

The value of x in above table is:

(@ 0

(b) 1.3

(c) 2.5

d 1.9

Which of the following structures is involved in gaseous exchange in woody stem of a plant as shown in the figure?

(a) Stomata
(b) Guard cell
(c) Lenticel
(d) Epidermis
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6.

10.

11.

12.

A feature of reproduction that is common to Amoeba, Spirogyra and yeast is that
(a) they reproduce asexually

(b) they are all unicellular
(c) they reproduce only sexually
(d) they are all multicellular

Ethane (C>Heg) on complete combustion gave CO2 and water. It shows that the results are in accordance with the
law of conservation of mass. Then, the coefficient of oxygen is equal to

(@ 772
b) 372
() 572
@ 92

When white light passes through the achromatic combination of prisms, then what is observed ?
(a) Deviation

(b) Dispersion

(¢) Both deviation and dispersion

(d) Atmospheric refraction

Magnesium reacts with hot water and steam both. Human body stores energy in form of:
(a) Glucose

(b) Insulin
(¢) glycogen
(d) Fructose

No matter how far you stand from a mirror, your image appears erect. The mirror is likely to be-
(a) Plane

(b) Concave
(¢) Convex
(d) Either plane or convex

What must be preserved in an ecosystem, if the system needs to be maintained?
(a)  producers and carnivores

(b) producers and decomposers
(¢c) Carnivores and decomposers
(d) Herbivores and carnivores

Posture and balance of the body is controlled by
(a) cerebrum

(b) cerebellum
(¢) medulla
(d) pons

CConionue Co oueen ppaue......
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13.

14.

15.

Sample Paper 3 CBSE Science Class 10

Magnesium ribbon is rubbed with sand paper before making it to burn. The reason of rubbing the ribbon is to:

(@)
(b)
©
(d)

Magnesiuin

Tibhon

Wateh-glass

Burner

Magnesium
oxide

remove moisture condensed over the surface of ribbon.
generate heat due to exothermic reaction.
remove magnesium oxide formed over the surface of magnesium.

mix silicon from sand paper (silicon dioxide) with magnesium for lowering ignition temperature of the
ribbon.

Mineral acids are stronger acids than carboxylic acids because

(1)
(ii)
(iii)
(iv)
(a)
(b)
(©)
(d)

mineral acids are completely ionized.
carboxylic acids are completely ionized
mineral acids are partially ionized
carboxylic acids are partially ionized
(1) and (iv)

(ii) and (iii)

(i) and (ii)

(ii1) and (iv)

Which among the following statements is incorrect for magnesium metal?

(@)
(b)
©
(d)

It burns in oxygen with a dazzling white flame.

It reacts with cold water to form magnesium oxide and evolves hydrogen gas.

It reacts with hot water to form magnesium hydroxide and evolves hydrogen gas.
It reacts with steam to form magnesium hydroxide and evolves hydrogen gas.

CConionue Co oueen ppaue......
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16.

Sample Paper 3 CBSE Science Class 10

Exposure of silver chloride to sunlight for a long duration turns grey due to

=

Sunlight

- China dish

v /) Silver

chloride

Which among the following statement(s) is(are) true?

the formation of silver by decomposition of silver chloride.
sublimation of silver chloride.

decomposition of chlorine gas from silver chloride.
oxidation of silver chloride.

Only 1

1 and 3

2 and 3

Only 4

Question no. 17 to 20 are Assertion-Reasoning based questions.

17.

18.

19.

Assertion : Photosynthesis is considered as an endothermic reaction.
Reason : Energy gets released in the process of photosynthesis.

(@)
(b)
©
(d)

Both Assertion and Reason are True and Reason is the correct explanation of the Assertion.
Both Assertion and Reason are True but Reason is not the Correct explanation of the Assertion.
Assertion is True but the Reason is False.

Both Assertion and Reason are False.

Assertion : Our body maintains blood sugar level.
Reason : Pancreas secretes insulin which helps to regulate blood sugar levels in the body.

(@)
(b)
©
(d)

Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).
Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A).
Assertion (A) is true but reason (R) is false.

Assertion (A) is false but reason (R) is true.

Assertion : Artificial kidney is a device used to remove nitrogenous waste products from the blood through dialysis.
Reason : Reabsorption does not occur in artificial kidney.

(@)
(b)
©
(d)

Both Assertion and Reason are true and Reason is the correct explanation of Assertion.
Both Assertion and Reason are true but Reason is not the correct explanation of Assertion.
Assertion is true but Reason is false.

Assertion is false but Reason is true.

CConionue Co oueen ppaue......
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20.

Assertion : The product of resistivity and conductivity of a conductor depends on the material of the conductor.
Reason : Because each of resistivity and conductivity depends on the material of the conductor.
(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A).
(c) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.

SECTION-B

Question no. 21 to 26 are very short answer questions.

21.

22,

23.

24,

25.

26.

What prevents the metals such as magnesium, aluminium, zinc and lead from oxidation at ordinary temperature ?
0o

Explain why sodium hydroxide solution cannot be kept in aluminium containers ? Write equation for the reaction

that may take for the same.

If you keep the potted plant horizontally for 2-3 days, what type of movements would be shown by the shoot and
root after two or three days. Why ?

What are the rules of inheritance ?

What is meant by pollination? Name and differentiate between the two modes of pollination in flowering plants.

State two positions in which a concave mirror produces a magnified image of a given object. List two differences
between the two images.

00
What is the difference between virtual images produced by concave, plane and convex mirror ?

Give two examples each of producers, consumers and decomposer.

SECTION-C

Question no. 27 to 33 are short answer questions.

27.

28.

29.

An organic compound with molecular formula C3HgO reacts with sodium metal to produce hydrogen gas. Deduce
the possible structure of the compound. Write the balanced chemical equation of the reaction.

Explain the following chemical changes, giving one example in each case :
(i)  Displacement or substitution,

(ii))  Dissociation,

(iii) Isomerisation reaction.

Our government launches campaigns to provide information about AIDS prevention, testing and treatment by
putting posters, conducting radio shows and using other agencies of advertisements.
To which category of diseases AIDS belongs ? Name and explain. What is its causative organism ? Also give two
more examples of such diseases.

oo
Distinguish between pollination and fertilisation. Mention the site and the product of fertilisation in a flower.

ool .p



Page 7 Sample Paper 3 CBSE Science Class 10

30.

31.

32.

33.

Why does a ray of light passing through the centre of curvature of a concave mirror after reflection, is reflected
back along the same path ?

(a) A compound lens is made of two lenses in contact having powers +12.5D and —2.5D. Find the focal
length and power of the combination.
(b) The magnification produced by a mirror is +1. What does this mean ?

In the given circuit, find :

19 20
2YAAY AN
34 362

(a) Total resistance of the network of resistors
(b)  Current through ammeter 4

0o
The values of current / flowing in a given resistor for the corresponding values of potential difference V' across
the resistor are given below:

I (ampere) 0.5 1.0 2.0 3.0 4.0
V (volt) 1.6 34 6.7 10.2 13.2

Plot a graph between V' and / and calculate the resistance of the resistor.

(a) How many eggs are produced every month by either of the ovaries in a human female ? Where does
fertilization take place in the female reproductive system ?
(b)  What happens in case the eggs released by the ovary are not fertilized?

SECTION-D

Question no. 34 to 36 are Long answer questions.

34.

Discuss the physical properties of non-metals.

00
Discuss the exceptions in the properties of metals and non-metals.

ool .p
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Suggest three contraceptive methods to control the size of human population. Mention two factors that determine

the size of population.

How do the following organisms reproduce by asexual methods ?

(a) Euglena

(b) Spirogyra

(¢) Ginger

(d) Chrysanthemum
(e) Strawberry

(f)  Mango

00

A household uses the following electric appliances :

(i)  refrigerator of rating 400 W for 10 hours each day.

(i)  two electric fans of rating 80 W each for 6 hours daily.
(iii) six electric tubes of rating 18 W each for 6 hours daily.

Calculate the electricity bill for the household for month of June, if cost of electrical energy is <3.00 per unit.

SECTION-E

Question no. 37 to 39 are case-based/data-based questions with 2 to 3 short sub-parts. Internal choice is provided in
one of these sub-parts.

37.

Acids, bases and salts are three main categories of chemical compounds. These have certain definite properties

which distinguish one class from the other.

The acids are sour in taste while bases are bitter in taste. Tasting a substance is not a good way of finding out
if it is an acid or a base! Acids and bases can be better distinguished with the help of indicators. Indicators are
substances that undergo a change of colour with a change of acidic, neutral or basic medium. Many of these
indicators are derived from natural substances such as extracts from flower petals and barrier. Litmus, a purple
dye is extracted from the lichen plant. Some indicators are prepared artificially. For example, methyl orange and
phenolphthalein. Given below is a table of indicators and their colour change in acidic and basic medium.

Indicator Colour in Acid Colour in Alkali
Litmus Red Blue

Methyl Pinkish red Yellow
Phenolphthalein Colourless Pink

(i)  Give two examples each of natural and artificial indicators.

(i) An aqueous solution turns red litmus solution blue. Excess addition of which solution would reverse the

change-ammonium hydroxide solution or hydrochloric acid?

(iii) What will be the change in colour when a few drops of phenolphthalein is added to a solution having pH

8.5.

(iv)  What is universal indicator?

00

ool .p
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38.

39.
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Questions are based on the two table given below. Study these tables related to blood pressure level and answer

the question that follow :

Table-A

BLOOD PRESSURE CATEGORY

SYSTOLIC mm Hg

DIASTOLIC mm Hg

Stage 1

(Upper number) (Lower number)
Normal 120 80
Elevated 120-129 Less than 80
High Blood Pressure (Hypertension) 130-139 80-90

High Blood Pressure (Hypertension)
Stage 2

140 or higher

90 or higher

Hypertensive crisis (consult your doctor
immediately)

Higher than 180

Higher than 120

Table-B
Time of Measurement Blood Pressure
Patient—X Patient-Y
Morning 75-115 85-125
Afternoon 79-122 80-120
Evening 82-132 75-110

(i) In the table B, at which time patent—Y have ideal normal blood pressure ?
(i)  Identify the patient, which have hypertension stage-1 blood pressure ?

(iii) Which Diet is the best for high blood pressure patient ?

00

(iv) What is the ideal blood pressure measurement of a human ?

After coming from playground, Tanu feels very hungry. But still some more time was required by her mother
to cook food. While waiting on dining table Tanu was playing with her spoon. All of sudden she observed two

different orientations of her face when she looked her face from both sides of spoon.

She was confused why the orientation of her face changed in two cases. She was curious to know why her reflected
image appears upside down in the one surface of a spoon but the correct way up in the opposite surface.

(i)  Which type of image is formed on the both surface of spoon?
(ii)  As tanu move concave surface of spoon towards her face, again she find that there comes a point (provided
the spoon is big enough) where her image flips from inverted to upright. State the condition under which
it happens ? Is this image real or virtual?

ool .p
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(iii) The given ray diagram depict the correct explanation of the image formed by one surface of the spoon.
Name the surface which can form the image as depicted in given ray diagram?

Mirror

00

(iv) Tanu was trying to form image using a concave mirror. She got an inverted and real image of same size of
the object. Given figure shows four possible positions of the image formed. Figure out the correct position

and justify it.

I |
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Time:3Hours Max.Marks:80

Generallnstructions:

1. Thisquestionpaperconsistsof39questionsinSsections.

2. Allquestionsarecompulsory.However,aninternalchoiceisprovidedinsomequestions. Astudentisexpected to attempt
only one of these questions.

3. SectionAconsistsof200bjectiveTypequestionscarrying I markeach.

4. SectionBconsistsof6 VeryShortquestionscarrying02markseach. Answerstothesequestionsshouldinthe range of 30 to
50 words.

5. SectionCconsistsof7ShortAnswertypequestionscarrying03markseach. Answerstothesequestionsshould in the range
of 50 to 80 words.

6. SectionDconsistsof3LongAnswertypequestionscarrying05markseach. Answertothesequestionsshould be in the
range of 80 to 120 words.

7. SectionEconsistsof3source-based/case-basedunitsofassessmentofO4markseachwithsub-parts.

SECTION-A

Selectandwriteonemostappropriateoptionoutofthefouroptionsgivenforeachofthequestions1-20.

1.

Calciumoxidereactsvigorouslywithwater.

=— Beaker

Water

Calcium oxide

Whichofthefollowingistheincorrectobservationofthereactionshownintheabovesetup?
(a) Itisanendothermicreaction.

(b) Slakedlimeisproduced.
(c) Itisanexothermicreaction.
(d) Itisacombinationreaction.

Atthetimeofshortcircuit,theelectriccurrentinthecircuit:
(a) varycontinuously

(b) doesnotchange

InstalINODIA Appto Seethe Solutions.
ClickHereTolnstall



(¢) reducessubstantially
(d) increasesheavily
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3. N>+3H, S5 2NH;3
Withthereferenceofabovereactionwhichoneoftheoptioninthetableiscorrect?

SamplePaper5

Reactants Products
(a) | N2,H» NH;3
(b) | NH; N>, H,
© | N, H>,NH3
(d) | NoNH; H

CBSEScienceClass10

4. Astudentrequirehardwaterforanexperimentinhislaboratorywhichisnotavailableintheneighbouringarea.
Inthelaboratorytherearesomesalts,whichwhendissolvedindistilledwatercanconvertitintohardwater.
Selectfromthefollowinggroupsofsalts,agroup,eachsaltofwhichwhendissolvedindistilledwaterwillmake it hard.

(a) Sodiumchloride,Potassiumchloride

(b)
©

(d) Calciumsulphate,Calciumchloride

5. Structurepresentinacellwhichisresponsiblefordeterminationofthesexofababyis:

(a) cytoplasm

(b) cellmembrane

(c) nucleus

(d) chromosome

Sodiumsulphate,Calciumsulphate

Sodiumsulphate, Potassium sulphate

6. Thecorrectstructuralformulaofbutanoicacidis

(a) A—C—C
\
H
H H
|
(by H—C—C
|
H H
H H
|
(¢c) H—C—C
I
H H
H H
I
(d) m—C—C
|
o n

H O
¢ oo
H H O
—e—c—e—oil
N
H H
("'—tl:—(m
L)
Moo
¢ o
i

InstalINODIA Appto Seethe Solutions.
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7. Whichoneofthefollowingpropertiesisnotgeneralexhibitedbyioniccompounds?
(a)  Solubilityinwater

(b) Electricalconductivityinsolidstate
(c) Highmeltingandboilingpoints
(d) Electricalconductivityinmoltenstate

8. In an attempt to demonstrate electrical conductivity through an electrolyte, the following apparatus (figure) was
set up.
6V
Battery

|

» -— Switch

<

Beaker —

Nail —
— Dilute NaOH
Rubber — solution
cork
Whichamongthefollowingstatement(s)is(are) correct?
1. Bulbwillnotglowbecauseelectrolyteisnotacidic.
2. BulbwillglowbecauseNaOHisastrongbaseandfurnishesionsforconduction.
3. Bulbwillnotglowbecausecircuitisincomplete.
4. Bulbwillnotglowbecauseitdependsuponthetypeofelectrolyticsolution.
(a) land3
(b) 2and4
(c) Only2
(d) Only4

9. AstudentcarriesoutanexperimentandplotstheV-/graphofthreesamplesofnichromewirewithresistances
R1,RrandRsrespectively(Figure). Whichofthefollowingistrue?

fi‘('x

I (nmpere) —=

V (valts) —

(a) Ri=R:=R3

(®) Ri12R:2Rs
(¢) R32R:2R:
(d) R22R32R:

InstalINODIA Appto Seethe Solutions.
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10.

11.

12.

SamplePaper5

Identifythemicro-organismwhosenutritiontypeisshownbelow:

(@)
(b)
©
(d)

Foodbacteria
Yeast
Fungus
Amoceba

Nuelens

/Fuon! prarticle
/

r
}

&\/Pw-mlnpmlm

}

~ Tood vacuole
Faood particl:

|

@&

InfollowingdiagramthepartsA,BandCaresequentially

(@)
(b)
©
(d)

cotyledon,plumuleandradicle
plumule,radicleandcotyledon
plumule,cotyledonandradicle
radicle,cotyledonandplumule

CBSEScienceClass10

A
i n
C

Ifthekeyinthearrangementtakenout(thecircuitismadeopen)andmagneticfieldlinesaredrawnoverthe horizontal
planeABCD, the lines are

Variable resistance

!

@H

A - f-\ T
A A
i Tong straight ~
N conductor

\I|I|[+

AN

-~
.
S
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(a) concentriccircles

(b) ellipticalinshape

(c) straightlinesparalleltoeachother

(d) concentriccirclesnearthepointObutofellipticalshapesaswegoawayfromit.

13. Whichofthefollowingstatementisnotcorrectaboutthemagneticfield?
(a) Magneticfieldlinesformacontinuousclosedcurve.
(b) Magneticfieldlinedonotinteresteachother.

CBSEScienceClass10

(c) Direction of tangent at any point on the magnetic field line curve gives the direction of magnetic fieldat

that point.

(d) Outsidethemagnet,magneticfiecldlinesgofromSouthtoNorthpoleofthemagnet.

14. Whatisthecorrectdirectionofflowofelectricalimpulses?

(a] pp -
‘.l-_-l *— ‘-—l.
il s e
[1E]]
— -— —
L]
—n il ™

15. BulbwillglowbecauseNaOHisastrongbaseandfurnishesionsforconduction. Thediagramshowsthearrangement

ofcellsinsidetheleafofagreenplant.(Nocellcontentsareshown).

1

2

3

A
Whichofthefollowingcellsnormallycontainchloroplasts?
(a) 2and4
(b) 2and3
(¢) land2
(d) land4

InstalINODIA Appto Seethe Solutions.
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16. Thefollowingreactionisanexampleofa
4NH;3(g)+502(g)$4NO(g)+4H20(g)

1. displacementreaction
2. combinationreaction
3. redoxreaction

4. neutralisationreaction
(a) land4

(b) 2and3

(¢) land3

(d) 3and4

Questionno.17to20areAssertion-Reasoningbasedquestions.

17.  Assertion:Corrosionofironisaseriousproblem.
Reason:Everyyearanenormousamountofmoneyisspenttoreplacedamagediron.
(a) BothAssertionandReasonareTrueandReasonisthecorrectexplanationofthe Assertion.

(b) BothAssertionandReasonareTruebutReasonisnottheCorrectexplanationofthe Assertion.
(c) AssertionisTruebuttheReasonisFalse.
(d) Both Assertion and Reason areFalse.

18.  Assertion:Dominantalleleisanallelewhosephenotypeexpresseseveninthepresenceofanotheralleleofthat gene.
Reason: It isrepresented by acapital letter, e.g.T.
(a) Bothassertion(A)andreason(R)aretrueandreason(R)isthecorrectexplanationofassertion(A).

(b) Bothassertion(A)andreason(R)aretruebutreason(R)isnotthecorrectexplanationofassertion(A).
(c) Assertion(A)istruebutreason(R)isfalse.
(d) Assertion(A)isfalsebutreason(R)istrue.

19. Assertion:Alltheplantspossessautotrophicmodeofnutrition.
Reason:Duetothepresenceofgreencolouredpigmentchlorophyllinthem.
(a) BothAssertionandReasonaretrueandReasonisthecorrectexplanationofAssertion.

(b) BothAssertionandReasonaretruebutReasonisnotthecorrectexplanationofAssertion.
(c) AssertionistruebutReasonisfalse.
(d) BothAssertionandReasonarefalse.

20. Assertion:Themagneticfieldproducedbyacurrentcarryingsolenoidisindependentofitslengthandcross- section area.
Reason:Themagneticfieldinsidethesolenoidisuniform.
(a) Bothassertion(A)andreason(R)aretrueandreason(R)isthecorrectexplanationofassertion(A).
(b) Bothassertion(A)andreason(R)aretruebutreason(R)isnotthecorrectexplanationofassertion(A).
(c) Assertion(A)istruebutreason(R)isfalse.
(d) Assertion(A)isfalsebutreason(R)istrue.

CContonueCooueenpaueeeeeee
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SECTION-B

Questionno.21to26areveryshortanswerquestions.

21.  AmetalistreatedwithdilH.SOs,thegasevolvediscollectedbythemethodshowninthefigure. Answerthe following :
(i)  Namethegas.
(i) Namethemethodofcollectionofthegas.

00
Listanytwoobservationswhenahighlyreactivemetalisdroppedinwater.

22. Whatdoyoumeanbydiffusion?

23.  Whicharethefirstsimplemoleculesoffoodproducedduringphotosynthesis? Whathappenstothesesimple molecules in the
leaves later ?

24.  Whatisthemeaningoftheterm“assimilation”?

25. Drawaneatdiagramtoshowtherefractionofalightraythroughaglassprismandlabelonittheangleof incidence and
angle of deviation.

00
Whatisthescatteringoflight?Explainwiththehelpofanexample.

26. Whatwillhappentothegarbageanddeadanimalsandplantsinabsenceofmicroorganisms?

SECTION-C

Questionno.27to33areshortanswerquestions.

27.  Statewhichofthefollowingchemicalreactionswilltakeplaceornot,givingsuitablereasonforeach:
() Zn(s)*CuSO4(aq) $ ZnSO.(aq)+Cu(s)
(i)  Fe(s)*+ZnSO.(aq)PFeSO.(aq)+Zn(s)
(ili)  Zn(s)+FeS04(aq)$ZnS0O.(aq)+Fe(s)

CContonueCooueenpaueeeeeee
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28.

29.

30.

31.

32.

33.

SamplePaper5 CBSEScienceClass10

Givereasonsforthefollowing:

(i)  Shiningsurfacesofmetalsbecomedullonexposuretoairandmoisture.
(i1))  Aluminiumisextractedfromitsorebyelectrolysisofmoltenore.

(iii) Goldisavailableinthenativestate.

Mentionthethreekindsofcellspresentinblood. Writeonefunctionofeach.
00
Withthehelpofdiagramexplainhowexchangeofgasesoccursinleafofaplant.

Manju is uses a concave mirror for image formation for different positions of an object. What inferences canbe
drawnaboutthefollowingwhenanobjectisplacedatadistanceof10cmfromthepoleofaconcavemirrorof focal length 15 cm
9

(a) Positionoftheimage

(b) Sizeoftheimage

(¢) Natureoftheimage

Drawalabelledraydiagramtojustifyyourinferences.

(a)  Defineopticalcentreofasphericallens.

(b) Youaregivenaconvexlensoffocallength30cm.Wherewouldyouplaceanobjecttogetareal,inverted and highly
enlarged image of the object ? Draw a ray diagram showing the image formation.

(¢) Aconcavelenshasafocallengthof20cm.Atwhatdistanceshouldanobjectbeplacedsothatitformsan image at 15
cm away from the lens ?

Pawanisconnectedagalvanometerwithacoilofinsulatedcopperwire. Whatwouldhappenifabarmagnetis:
(i)  Pushedintothecoil?
(i) Withdrawnfrominsidethecoil?
(iii) Heldstationaryinsidethecoil ?

00
Youaregiventwoidenticallookingironbars.Justusingthesetwobarshowwillyouidentifywhetheranyorboth of these
bars is/are a magnet ?

Explain the phenomenon of Biological Magnification. How does it affect organisms belonging to different
trophiclevels particularly the tertiary consumers ?

SECTION-D

Questionno.34to36areLonganswerquestions.

34.

An organic compound4is widely used as a preservative in pickles and has a molecular formulaC,H4O,.This
compound reacts with ethanol to form a sweet smelling compoundB.

(a) IdentifythecompoundA.
(b)  Writethe chemical equationfor the reactionwith ethanolto form compoundB.
(¢) HowcanwegetcompoundA4fromB?
(d) Nametheprocessandwritecorrespondingchemicalequation.
(e) WhichgasisproducedwhencompoundAreactswithwashingsoda?Writethechemicalequation.
00

(a) TheformulaofanesterisCH3COOC,;Hs. Writethestructuralformulaeofthecorrespondingalcoholand the acid.
(b)

(i)  Mentiontheexperimentalconditionsinvolvedinobtainingethenefromethanol.

(ii)  Writethechemicalequationfortheabovereaction.

CContonueCooueenpaueeeeeee
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(@)  Writethefunctionoffollowingpartsinhumanfemalereproductivesystem:
(i) Ovary
(ii) Oviduct
(iii) Uterus
(b) Describeinbriefthestructureandfunctionofplacenta.
00

Definetheterms:

(i)  Syngamy

(i)  Triplefusion
(iii) Implantation
(iv) Placenta

(v)  Gestation.

Themobilephoneisanexcellentcommunicationdevice.Mobilephonesuseselectromagneticradiationinthe
microwaverange.Partoftheradiowaveemittedbythemobilephonehandsetwillbeabsorbedbythehead.
Headisinthe‘nearfield’ ofradiation,sothatmostoftheheatingeffectoccursinthehead.
Temperatureintheinternalear,brainincreasesby 1 degreeormore.Thisadverselyaffectthefunctioningof
theseorganssincethesehavefluidfilledcavities.Butprolongedheatingeffectcanalterbrainfunctionsand
hearingabilityalso.OtherharmfuleffectssuchasPrematureCataract,Confusionandlossofmemorymayalso
bepossible.Followingfigureshowsthathowmobilephoneradiationpenetratesthebrain.

Howmobilephoneradiationpenetratesthebrain

5-year-old 10-year-old Adult
Skull thickness:  Skull thickness:  Skull thickness:
Y5 mm 1 mm 2 min
Alohile Brain
phone Skull

Depree of

penetration

Absorption rate:  Absorption raie:  Absorption rate:

149 W ks 321 W ke 2.03 W/kg

Source: Institute of Electrical and Electronic
Engineer’s journal on Microwave Theory and
Techniques

(i)  Whatprecautionsshouldbetakenwhileusingmobilephones?

(i1)  Whichradiationsareusedinmobilephones?

(iii) Howdoesprolongedheatingeffectduetomobileradiationscaneffectadversely?
(iv) Inwhichpartofourbody,mostoftheheatingeffectoccursduetouseofmobiles?
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SECTION-E

Questionno.37to39arecase-based/data-basedquestionswith2to3shortsub-parts.Internalchoiceisprovidedin one of these sub-

parts.

37.

38.

The reactivity series is a list of metals arranged in the order of their decreasing activities. The metal at the topof
the reactivity series is the most reactive and metal at the bottom is the least reactive. The more reactive metal
displaces less reactive metal from its salt solution.

K Potassium Morereactive
Na Sodium
Ca Calcium
Mg Magnesium
Al Aluminium
Zn Zinc Reactivitydecreases.
Fe Iron
Pb Lead
[H] [Hydrogen]
Cu Copper
Hg Mercury
Ag Silver
Au Gold Leastreactive

(i) Namethemetalswhichreactwithsteambutnotwithhotwater.
(i)  What happen when calcium react with nitric acid and which method is used to extract metal present at the
top of the reactivity series?

00
(i) Whichofthefollowingmetalsexistintheirnativestatesin nature?
L Cu
II. Au
HI. Zn
IV. Ag

Questionnumbersi-ivarebasedonthetablegivenbelow.Studythetableandanswerthefollowingquestions.

Table-A
Characters Males Females
1. | Totalno.ofchromosomes 23pairs 23pairs
2. | No.ofautosome 22pairs 22pairs
3. | No.ofsexchromosome 1 pair 1pair
(i)  Whatissexdetermination?
(il))  Whatarethesexchromosomesinthemales?
(iii) Whatarethesexchromosomesinthefemales?
00

(iv) Isthefatherresponsibleforthesexofthechild?
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39. Lensesareobjectsmadeoftransparentmaterialssuchasglassorclearplasticthathascurvedsurfaces.Diverging  lenses
are thicker at their edges than at their centres and makes light rays passing through them spread out. Converging
lenses are thicker in their middle than at this edges and make light rays passing through them focus
atapoint.Theseareusedinspectaclestohelppeoplewithpoorvisionseebetter. Theconverginglensesmagnify by
bending the rays of light that pass through them to meet at a point called focus. Thicker the converging lens is at
its centre, the more its magnifies and closer the focus is to the lens.

(i) RaviusestwolensesAandBofsamesizeandsamematerialasshown.P;andP.arethepowersofAand

B.AnobjectiskeptatthesamedistancefromthelensbetweenFand2Fofeachlensontheprincipalaxis in turn.
Letl andlrbe the image formed by two lenses respectively. What is the relation of image distances of both lens
?

A B

(ii))  Writedowntherelationbetweenthepoweroflensofbothlenses?
(iii) MeenakshiusesabovetwolensesAandBalongwithanothertwolensesCandD,asshown:

C D

She is able to see the subject matter on the black board while sitting in the front row in the classroom but
isunable to see the same matter while sitting in the last row.
Whichoftheabovefourlenseswillsherequiretocorrectthedefectinhervision? Why?
00
(iv) NatashaplacesanobjectontheprincipalaxisofabovegivenlensA.Oneendofthisobjectcoincideswith the focus F and
the other end with 2F. What will be the nature of the image formed by the lens on the otherside ?
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TSI & fAT gl 2 3T NTEdT &7 AT FRUT 2 3797 Aser A fAf@T|
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@) ‘TR T de AT RN HideT qNoT” Ig ufdd fhd Hfaar @ o 715 § 3R g8
HATETH H HId FAT Fgell dTgdT g2

(&) 3TcHSAT fa@a & v el Uil & TRl g 82 Hid & AU I T HiseT F2f
gr? e fAf@T|

T 13. [F IAGEaF & el W IeRa Arafaf@a de et & @ el @ weal &
3 9T 50-60 -2reel H faf@w- (4x2=8)

(#) "a& g@, Aifa AR gooT €, e I3WRT Fquiar 1 95, o, ggr 3R e @9 3red-
HoeR o, dre AR Al 7 &1 gAY O & v f 3w o, are R afd @ [Worars
3eTFET WY fhar B 'I-EET 1Y AIfS UTe & AUR W dd8U R 57 T WY
T RIS HST fhd YR FT Hehell &7

(@) AR @ fad fagerdr & 38 dud & far Aoy axar § 3R foma §f @R
308 #qFd g oraT g1 H 2 fIgdr § 9re & IR W RIRIAT ge § Sisd §U sH FUA
1 e AT

(3T) HIET HT A IS H MAAT F IS AGI-AA F dgd T §l T H g g
T 9ol & o off AE-far &1 @ g o agar ¢, g AR & §¢ 8 I
SO ¥ & IO 30¢ WY A IWH JeUHH H Ugdr &d §| W AN Y T fher wreal A
FHRSUE? R e i@

T 14. Arfef@d i vy & @ Fdt v RAvr 9w a9 120 eeey & gRafda
Ieoe fafge- (6)

(F) Naat &1 FfeaT R 3R AT AT
o HAGES Tl & HRhoT EToATcll o THAT HHI
o HideT FTATdl & G-ar 81 et Hr AfFd
o 3o Fuwele afFddl & 3ameIor
o HGTHS TEAT T Hehel
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(@) WIga T, W3R SOt : WEUTfAdt vd geaTw 39
o Fod 3AdIST HRT
o TER SN FI Tl TeATT
o HraurfaAdT
o Y TS & 3U

() T S @ F =en, gu T Afer P
o G T HAGT ST FarHIiaE Y
e 33U YN H FAST W JHT

o 37U 37ET SHichell 3TARTH
o HATCHATIIEUT T Hhod

YR 15. 39 Heledl A/ HATEIAT AlldT &1 AT & &A1 # geiear &l aad &d el I35
W a8 & FATglell & HeH H 2 JIPRUT, 31 § § R & JUGHh I Th AR
wﬁamwaﬂﬁvmgwmmO%mﬁwﬁf@m (5)

AYdar
Y AT T/ AFEr g &1 3T oEEaE #A @ gl 9H Tdr St @ gar =ger § fF

3T AT S X IRER 1 @ et @ §, fhg 3o T f 3t e F 2
AT ST T FHASTI §T w1811 100 rsal # v 97 faf@w|

WS 16. 3T TEUT AW/ TRUM AT §| 3T f.Us & Yo g el fadh FeTareel Fohef,
3T AR A RBE 3reaTe/ 3reaenT ug & fov 3Mdes e g1 39 [T 39 379+ T
Hfared ¥agd (SrTsTer) wster 80 sal H AR AT (5)
3roar

3T A dict/ Siell T3S Bl AU 37 § F TR, & T TR I IAABSA F© F&dh
Hararg AT ThRIAT CaRT 38 @ & G&ash [hall 3T of@sh HT 7 & 75 ¢ 3R v g
%W@Wﬁg@%lsﬂﬁmmgamsﬁgmﬁﬁammaﬂ?aé
g fASTae & T JehrieT & aiRse Jatieh & e 80 el # T $-Ad v
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W 17. 39 ATl S o ¥EAS FUST i Th ghled Tlell g1 9 FTIR-9ER & far Tz

FAMRYT H 38 AT S aigd g1 3T 37 folT oE79eT 60 eal H TH 3Thveh

faage IR hifFw] (4)
3rgar

g diFEg e '@iFEr aer g 3o Har-and T ggel darfee auelie (VHERNY) 1 39

3R W 3oAeh ToIT ST 60 Asal H YHPHAT Ud qes HeW Taf@u|
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Holiday Homework
Vi
Social science

1. In what ways are present-day elections different from the ways in which
rulers were chosen in ‘janapadas’?

2.Why did the ‘rajas’ of ‘mahajanapadas’ build forts?

3.What were the main teachings of the Mahavira?

4.Differentiate between the summer solstice and winter solstice.

5. What is the work of a Tehsildar?

6.what were the main teachings of Mahavir ?

7.what were the question of Upanishads thinker would to be answered?
8.what were the problems Ashoka wanted to solve by introducing dhamms?
9. What is the work of the police?

10. List two things that the work of a Patwari includes.



WINTER HOLIDAY HOMEWORK

CLASS -VII

SOCIAL SCIENCE

HISTORY

1.WRITE NOTES IN HISTORY CH-TRIBES, NOMADS & SETTLED.
2.MAP CH-TRIBES, NOMADS, SETTLED. Pg No 51
GEOGRAPHY

CH 6 GRASSLAND

1. TROPICAL GRASSLAND

2. TEMPERATE GRASSLAND

3. THORNY BUSHES

DO YOU KNOW



WINTER HOLIDAY HOMEWORK
SOCIAL SCIENCE
VI

Q.1 Why did James Mill & Thomas Macaulay think that European education was essential in India?
Q.2 Why did Mahatma Gandhi want to teach children handicrafts?

Q.3 How did Jyotirao the reformers justify their criticism of caste inequality of society?
Q.4 Discuss the constitutional provision for uplifting marginalized group?

Q.5 Who does it mean to be socially marginalized?

Q.6. Give a brief account of William Jones

Q.7. What were the special features of a pathshala?

Q.8. What were Tagore’s ideas on education?

Q.9Why did Mahatma Gandhi think that English education had enslaved Indians?



Sample Paper 22
Social Science (Code 087)

Class X Session 2022-23

Time: 3 Hours Max. Marks: 80

General Instructions:

1. Question paper comprises five Sections — A, B, C, D and E. There are 37 questions in the question
paper. All questions are compulsory.

ii. Section A — From question 1 to 20 are MCQs of 1 mark each.

iii. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each.
Answer to each question should not exceed 40 words.

iv. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each. Answer to
each question should not exceed 60 words

v. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each. Answer to
each question should not exceed 120 words.

vi. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and are of 4
marks each.

vii. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2 marks)
and 37b from Geography (3 marks).

viii. There is no overall choice in the question paper. However, an internal choice has been provided in few
questions. Only one of the choices in such questions have to be attempted.

ix. In addition to this, separate instructions are given with each section and question, wherever necessary.

SECTION-A

Multiple Choice Questions (Q 1 to 20) 1X20=20

1.  Study the following picture and choose the correct option :

Install NODIA App to See the Solutions.
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(a) Women were neither encouraged nor allowed to join national freedom movement.
(b) For the first time women joined nationalist processions in masses.

(c) Britishers were not very much concerned about such movements.

(d) Women were forced to join the freedom movements.

2.  Find the odd one out from the following:
(a) Gold, Silver, Iridium, Platinum

(b) Copper, Lead, Tin, Bauxite
(c) Coal, Petroleum, Limestone, Natural gas
(d) Iron ore, Manganese, Nickel, Cobalt

3. Which subjects are included in the Concurrent List?
(a) State importance

(b) National importance
(c¢) Local importance
(d) Both national and state importance

4.  Consider the following statements regarding caste in politics and identify the incorrect one from the
following:
(a) Social reformers and laws have played important role to reduce casteism.

(b) Caste in politics always produces positive results.
(c) Routes of casteism are visible in our society from ancient time.
(d) Caste factor played important role in the formation of Central Government.

5. Which one among the following pairs is correctly matched?

List-I List-II
(a) | March 1930 Salt March
(b) | December 1931 Khilafat Movement
(c) | December 1929 Second Round Table Conference
(d) |January 1921 Lahore Congress Session

6. Inthe question given below, there are two statements marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option.
Assertion (A): Workers in organised sectors enjoy security of employment.
Reason (R): Organised sector is registered by the government and have to follow the rules and regulations
which are given in laws such as Factories Act, and Minimum Wages Act.
Options:
(a) Both A and R are true, but R is not the correct explanation of A.
(b) Both A and R are true and R is the correct explanation of A.
(c) Ais false, but R is true.

(d) Ais true, but R is false.
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7.

10.

11.

12.

13.

Which of the following department measures the Gross Domestic Product (GDP) of a country?
(a) Department of External Affairs (b) World Trade Organisation (WTO)

(c) Central Government (d) Department of Income Affairs

Arrange the following in chronological order:

I.  The IMF and the World Bank started their financial operations.

II.  The US became a colonial power by taking over some colonies which earlier held by Spain.
III.  Due to the efforts of Indian nationalist leaders, the system of indentured labour was abolished.
IV. The big European powers met in Berlin to complete the carving up of Africa between them.
Options:

(a LILOLIV (b) IV, IL, 1L, I

(c) ILIV,1II (d) LI IV, II

Where did Mahatma Gandhi make salt out of the seawater ?
(a) Dandi (b) Sabarmati

(c) Champaran (d) None of these

Which of the following are the main components of a political party?
(a) Leaders (b) Active members

(c) Followers (d) All of these

Arrange the following in the correct sequence:
(1) Transporting paper to factory

(i1) Sale of books in bookstore

(ii1) Printing of pages

(iv) Compilation of pages

Options:

(a) (1), (i), (iv), (ii) (b) (iii), (i1), (iv), (1)

(c) (iv), (iid), (1), (ii) (d) (i), (i), (iid), (iv)
‘Coming together federation’ is not found in which of the following country?
(a) U.S.A. (b) India

(c) Australia (d) Switzerland

Identify the crop with the help of the following information:

» Itis atropical as well as a subtropical crop.

* It grows well in hot and humid climate with a temperature of 21°C to 27°C.

* It can be grown on a variety of soils needs manual labour from sowing to harvesting.
* India is the second largest producer of this crop only after Brazil.

Options:
(a) Sugarcane (b) Rice
(c) Tea (d) Coftee
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14.

15.

16.

17.

18.

19.

Which of the following belongs to taking loan from an organised sector?
(a) Relatives (b) Friends

(c) Bank (d) Local money lenders

Fill in the blank:

Sector Related Economic Activity

Tertiary Banking
Primary ?

Options:
(a) Weaving (b) Teaching
(c) Fishing (d) None of these

Which of the following social reformers fought against caste system?
(a) Mahatma Gandhi (b) B. R. Ambedkar

(¢c) Jyotiba Phule (d) All of these

Lavanya took a loan of X7 lakhs from the bank to purchase a car. The annual interest rate on the loan is
10.5 per cent and the loan is to be repaid in 5 years in monthly instalments. The bank retained the papers
of the new car as collateral, which will be returned to Lavanya only when she repays the entire loan with
interest.

Analyse the loan information given above, considering one of the following correct options:

(a) Deposit criteria (b) Terms of credit
(c) Interest on loan (d) Mode of repayment
Match the following:
Danis Rivers

A. Nagarjuna Sagar L. Kaveri

B. Mettur II. Damodar

C. Bhakra Nangal II1. Krishna

D. Panchet Iv. Satlu

Options:

(a) A-IL B-III, C-1V, D-1 (b) A-111, B-1, C-1V, D-1I
(¢) A-1V, B-III, C-1, D-II (d) A-1, B-1V, C-11, D-1II

Which among the following is the correct meaning of ‘Alliance’?
(a) Leftists and Rightists together form the government.

(b) Two parties together form the government.

(c) When several parties in a multi-party system join for the purpose of contesting elections and winning
power.

(d) When state and national parties together form the government.
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20. Identify the correct statement/s about Multinational Corporation (MNC):

I. A Multinational Corporation (MNC) is a company that owns or controls production in more than
one nation.

II. It sets up offices and factories for production in regions where it can get cheap labour and other
resources.

III.  In addition, it might look for government policies that look after its interests.

IV. Infosys is an Indian MNC that provides business consulting, information technology and
outsourcing services.

Options:

(a) TandIII

(b) IIand IV

(c) TandII

(d) All of these

SECTION-B

Very Short Answer Question (Q 21 to 24) 2X4=8

21. What kinds of hazards are faced in the mining industry?
22. State the role of Dr BR Ambedkar in the upliftment of Dalits.

23. What is a regional party? Give few names of regional party in India.
OR

What do you mean by one-party system? Also state some advantages of this party system.

24. State any two features of World Trade organisation.

SECTION-C

Short Answer Based Question (Q 25 to 29) 3X5=15

25. “At first the rich peasants of Uttar Pradesh and Gujarat were enthusiastic supporters of the Civil
Disobedience Movement, but later they refused to participate.” Analyse the statement.

26. Why is Barter system considered difficult to trade a commodity? Give any three reasons.

27. Evaluate the importance of Durg-Bastar-Chandrapur belt for India?
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28. Describe the three major features of federalism.
OR

Discuss the composition of Zila Parishad.

29. ‘Political parties usually face a crisis of unpopularity and indifference among the citizens’. Comment.

SECTION-D

Long Answer Based Question (Q 30 to 33) 5X4=20

30. Write a brief note on waterways mentioning the national waterways of India.
OR

Enlist and describe the five major ports situated on the Western coast of India alongside the Arabian Sea.

31. How Globalisation and MNC’s has a great impact on the lifes of workers.
OR

How is the competition affecting workers, Indian exporters, MNC’s in the garment industry?

32. Describe the advantages of decentralisation.
OR

Evaluate the features of Indian Constitution, 2019 which make India a federal country.

33. What was the role of technology in transforming the world in the 19th Century ?
OR

Explain the impact of Great Depression on the Indian Economy

SECTION-E

Case Based Question (Q 34 to 36) 4X3=12

34. Read the given extract and answer the following questions.

Through the ‘right of inheritance’ leading to the division of land among successive generations has
rendered land-holding size uneconomical, the farmers continue to take maximum output from the limited
land in the absence of alternative source of livelihood. Thus, there is enormous pressure on agricultural
land.

The main characteristic of commercial farming is the use of higher doses of modern inputs. e.g. High
Yielding Variety (HYV) seeds, chemical fertilisers, insecticides and pesticides in order to obtain higher
productivity.
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3s.

36.

The degree of commercialisation of agriculture varies from one region to another.

For example, rice is a commercial crop in Haryana and Punjab, but in Odisha, it is a subsistence crop.
(1) State the ways through which farmers continue to make maximum output from limited land.

(1)) What is the reason behind rice being a subsistence crop in Odisha?

(ii1)) Mention the name of Indian states which produce rice commercially.

Read the given extract and answer the following questions.

The Bretton Woods conference established the International Monetary Fund (IMF) to deal with external
surpluses and deficits of its member nations. The International Bank for reconstruction and development
(popularly known as the World Bank) was set up to finance post-war reconstruction: The IMF and the
World. bank are referred to as the Bretton Woods institutions or sometimes the Bretton Woods twins.
The post-war international economic system is also often described as the Bretton Woods system. The
IMF and the World Bank commenced financial operations in 1947. Decision-making in these institutions
is controlled by the Western industrial powers. The US has an effective right of vote over key IMF and
World Bank decisions.

The International Monetary System is the system linking national currencies and monetary system.
The Bretton Woods system was based on fixed exchange rates. In this system, national currencies, for
example, the Indian rupees were pegged to the dollar at a fixed exchange rate. The dollar itself was
anchored to gold at a fixed price of $35 per ounce of gold.

(1) What was the reason behind setting up of International Monetary Fund?

(i1)) Describe the Bretton Woods System.

(ii1) A significant decision was taken at Bretton Woods in New Hampshire. Explain.

Read the source given below and answer the questions that follow.

Chinese manufacturers learn of an opportunity to export toys to India, where toys are sold at a high price.

They start exporting plastic toys to India. Buyers in India now have the option of choosing between

Indian and Chinese toys. Because of the cheaper prices and new designs, Chinese toys have become

more popular in the Indian markets. Within a year, 70 to 80 per cent of the toy shops have replaced

Indian toys with Chinese toys.

Toys are now cheaper in the Indian markets than earlier. What is happening here? As a result of trade,

Chinese toys come into the Indian markets. In the competition between Indian and Chinese toys, Chinese

toys prove better. Indian buyers have a greater choice of toys and at lower prices. For the Chinese toy

makers, this provides an opportunity to expand business. The opposite is true for Indian toy makers.

They face losses, as their toys are selling much less.

(i) What was the most appropriate reason for calling exporting toys to India by the Chinese ‘an
opportunity’?

(i) What stands true in reference to the consumer behaviour as shown by Indian buyers in the toy
market?

(ii1)) Why Chinese toys have taken over the Indian toy market?
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SECTION-F

Map Skill Based Question (Q 37a and 37b) 24+3=5

37. (a) Two places A and B are marked on the given outline map of India. Identify them and write their
correct names on the lines drawn near them.
A.  The location of the Indian National Congress Session of 1927.
B. Aplace where Gandhiji ceremonially violated the Salt Law and manufactured salt by boiling

salt sea water.
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(b) On the same outline map of India, locate and label any three of the following with suitable symbols.
A major port on the South-East coast of India.

A major sugarcane producing state.

A Software Technology Park

A major dam in Odisha.

™m0
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KENDRIYA VIDYALAYA PATAN

AUTUMN BREAK - 2023-24

HOLIDAY HOMEWORK

CLASS: VI SUBJECT: ENGLISH

Q.1. Prepare a Dictionary of 40 words with meanings from the lessons taught to you.
Q.2. Choose any 15 main verbs from the poems taught to you and write with their verb forms
(V1,V2,V3 & VAa).

Q.3. Write a notice to inform the students about a QUIZ COMPETITION going to be organised in your
Vidyalaya next week.

Q.4. Write the summary of Lesson-6 ‘WHO | AM’.



KENDRIYA VIDYALAYA PATAN

AUTUMN BREAK - 2023-24

HOLIDAY HOMEWORK

CLASS : VI SUBJECT : ENGLISH
Q.1. Prepare a Dictionary of 50 words with meanings from the lessons taught to you.

Q.2. Choose any 20 main verbs from the poems taught to you and write with their verb forms
(V1,Vv2,V3 & V4).

Q.3. Write a LETTER to congratulate to your cousin for getting the 1° Prize in a Story Telling
Competition organised in his Vidyalaya.

Q.4. Write the summary of Lesson 6 ‘Expert Detectives’.



KENDRIYA VIDYALAYA PATAN

AUTUMN BREAK - 2023-24

HOLIDAY HOMEWORK

CLASS : VIl SUBIJECT : ENGLISH
Q.1. Prepare a Dictionary of 50 words with meanings from the lessons taught to you.

Q.2. Choose any 20 main verbs from the poems taught to you and write with their verb forms
(V1,Vv2,V3 & V4).

Q.3. Write a story that you like.

Q.4. Write an essay on the topic, ‘Health is Wealth’ or ‘Science A Boon'.

Q.5.Write a Diary entry expressing your experiences of examination.



KENDRIYA VIDYALAYA PATAN

AUTUMN BREAK - 2023-24

HOLIDAY HOMEWORK

CLASS : IX SUBIJECT : ENGLISH
Q.1. Prepare a Dictionary of 50 words with meanings from the lessons taught to you.

Q.2. Choose any 25 main verbs from the poems taught to you and write with their verb forms
(V1,Vv2,V3 & V4).

Q.3. Write a descriptive paragraph using the clue given below:

‘BRUSH DAILY, SMILE DAILY’
Q.4. Write a Diary entry expressing your experiences and views about examination.

Q.5. Choose 2-2 questions from each chapter taught to you and write with their answers.



KENDRIYA VIDYALAYA PATAN

AUTUMN BREAK - 2023-24

HOLIDAY HOMEWORK

CLASS : X SUBJECT : ENGLISH

Q.1. Write 4 formal letters (1 for placing order, 1 for inquiry, 1 for complaint and 1 for expressing
concerns through the editor).

Q.2. Write any 03 Analytic Paragraphs.

Q.3. Learn the Competency Based textual questions for the upcoming exams.

Q.4. The following paragraph has not been edited. There is one error in each line. Identify the
error and write its correction against the correct blank number. Remember to underline

the correction. The first one has been done for you. Error Correction
Have you ever learn from a mistake you have made? E.g. learn learnt
Many shouldn’t admit doing so. For those who do, a)

there was no need for guilt. We often make mistakes b)

while taking risks, but all brush them aside and learn. c)

With that, they usually don’t make mistakes the next time.

ALL THE BEST!
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